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PART = 11 : SCHOLANTIC APTITUDE TEST
(For Student of Class yvin
Time : 90 Minutes Max. Marks : 90

INSTRUCTIONS TO CANDIDATES
Read the following instructions carefully before you
open the question booklet.

1. Answers are to be given on the same OMR answer
sheet provided for Part — |

2.  There are 90 questions in this test. All are
compulsory.

3.  The question numbers 91 to (10 belong to
Mathematics, 111 to 145 pertain to Science and
146 to 180 are on Social Science subjects.

4. Choose the correct answer from the options given
for each question and darken the corresponding
circle with black ball point pen in the OMR
answer sheet,

"JI

Since the time allotted for this qucstion paper is
very limited you should make the best use of it by
not spending too much time on any one question.

6.  If you do not know the answer to any question, do
not waste time on it and pass on to themnextone. If
time permits, you can come back to-the questions,
which 5& have left in the first instance and
attempt them.

7.  Rough work can be done anywhere |in the
question booklet but not in the \OMR sheet / loose
paper.

8.  Each correct answer will be awarded one ¥lark.

9. Please return the OMR ‘Answer sheet only to the
invigilator/after completion of the test. You can
retain the question Booklets.

10. English version of the question paper will be
considered as final in case of any dispute arising
out of variation in translated version.

11. Quote your seven digit Roll number without fail
for any future correspondence.

PLEASE TURN OVER THE PAGE AND START
ANSWERING
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MATHEMATICS / asmoflgih

91, Which property satisfics the 91.
subtraction of integers?
1) Closure property
2) Commutative property
3) Associative property
4) None of these
92. The value of m for which 5" =125, is 92.
)4 2) 3
32 4) 5
93, Thedegreeof the expression quj+p1q+p4 9%,
is
H3 2) 6
3)2 H4a
94. If the perimeter of a square is 6x + 2 94.
then the side is
3 1
) cX4 2)3x+1
2 y4
1
S)Ex+l 4)24x'+8
5
95. Which onc of the following is nota factor 0s.
' of (% —1)?
H(x—-1) 2)(x+ 1)
3) 1 HxF -1
96.  If the‘arca of the parallelogram is $00cm™ 96,
and its basc is 8/cm, then the height of the
parallclogram.is
1) 100 em 2) 150 cm
3) 3200 cm 4) S0 em
388/150—2

3) 3200 Q.6

FpSensugnd uson jesfled sTHE L6Tar 6o Sl
(pagbmetistr  aifidmn  usinsou  Hemmey
Qlatinyo susnauilsh sismuodhg6mer ) ?

1) SemLe|l usdory
2) ufiwrmot sy
3) Germiyl ustm
4) stgia|flasne

5™ = 1256Tsfled m ~ear LHOOUS
ST 5.

7 4 | 2)3

3) 2 4)5

plrpigrp srerm Gemmauudls Uiy
3 2)6
32 4) 4

Q@ FETSST anparal 6x + 2 sTenflew
SBET LGS IJeT6Y]

§x+} 2) 3x+1d
D2 2 B '

3);x+l 4) 24x +8

EpSGANN L snsusafle 61 (x? — 1) — g
aysofl @6 ?
1) (x— 1) 2) (x+ 1)
31 4 x* -1

@) st iy & 6T LIFULAITRY 400 @‘&.tﬁé .
SIE6T g UsHSD 8 Qg .18, stesfln, Biehent
R

1) 100 Q&8 2) 150 Q&b

4) 50 Qe .Lf.
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3
97, The central angle of the semicirele is 97.
) 180" 2) 60"
3) 300" 4) 90"
98.  The ratio of 10 months to 1 year is 98.
1o 1 2)1:10
"3)5:06 4$6:5
99.  If 7 men can complete a work in 45 99.
dayvs, in how many days will 9 men
finish the same work?
1) 35 23 25
3) 40 4) 20
100.  Which of the following will be the 100.
' sides of a triangle?
1)6,4,12 2)4, 5,1
353, 5. 10 4) 3, 4,6
101. What number should be subtracted 101,
i 1 2
from '5' to gets—
2 5 7
Vs )35
1 g z
3) = )7
102. The cube of an/even natural number 102.
is
1) even number
2) odd number
3) irrational number
4) prime number
103. A polygon in which atleast one angle 103.
is more than 180" is called.
1) convex
2) concave
3) regular
4) irregular
388/150—2a
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The comparison of two quantities of

the same kind by means of division is
termed as
1) proportion
3) fraction

2) ratio
4) common terms

- " f v . . {
If the angle of rotation of an object is 367,
then its order of rotational symmetry is

o 2)3

H4d 4)§

The range of the first § prime
numbers is

)7 2) 4

)6 49

The point (4, -8) lies in the quadrant
nil 2) 111
Hi 4 IV

The sum of two squares of two
natural numbers is 13, then the
numbers are
11,5
3)2,3

2)2,4
4)2,5

Product of two irrational number is
1) always irrational

2) always rational

3) always integers

4) either irrational or rational

The multiplicative inverse of -12 is

1)12 2)5
g i
‘)12 L
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SCIENCE_/ syfiefliey

Atmospheric pressure at sea level is
1) 10" N/m?
2) 10* N/m?
3) 10% N/m?
$) 107 N/m?

The unit of pressure Nm™ can be
called as

1) Paseal

2) Newton

3) Joule

4) Candella

Household circuit is connected by
1) simple circuit

2) Parallel circuit

3) series circuit

4) None

Sea breeze is due to
1) conduction

2) convection

3) radiation

4) gravitation

The shining of diamend is due to
1) reflection

2) refraction

3) total internal reflection

4) none

The least distance of distinct vision
of human eye for a normal person

is

1) 15¢em 2)20 cm
3)25cm 4) 10 cm
36 km/hr = ---ee-nmennees m/s
1 2) 10

3) 100 4) 1000
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111,

112.

I13.

114,

116.

117.

sl wlLsHeo euellosm e S9&ssdear
Lagliny

1) 10° N/m’
2) 10° N/m?
2) 10° N/m?
4) 10 N/'m?

SNWES ST HieuSTsa Nm™? ereiug,

————= T SRS SILHH DS

) UTERS 60

2) Bl st

3) esy

4) Gasarl_susom

aihisefie EenamrssiuEid Bsranm
1) staflw Blseramm

2) US& @ensETLY SHN

3) QL Fenemriy snml
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4y yedlmy efsne

sosUTD ST EISNE SNTsETin
1) er&Qpefliy
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1) 15 Q5.8 '2) 20 Qs
3) 25 Qg 4) 10 Qg .8
36 fl.f/oewefl = ——————— B/ efipmg
N1 210

3) 100 4) 1000
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122.

123.
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The following graph represents
Y

Distanee

time
1) uniform speed
2) variable speed
3) object at rest
4) non-uniform speed

An electric cell is a device which

converts

1) electrical energy to chemical
energy

2) chemical energy to electrical
energy

3) heat energy to electrical energy

4) light encrgy to electrical energy

Find the odd one out
1) electric toaster

2) electric iron box
3) electric bulb

4) room heater

—eeeeee mirror is used by the Dentist

1) plane 2)-cenyex
3) Double convex 4) concave

The coil used. in clectric heater is
made‘up of
1) tungsten
3) nichrome

2) copper
4) aluminium

The inventor of lightning arrestor
1) Sir Issac Newton

2) Benjamin Franklin

3) Faraday

4) Edison
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—————— Will dissolve ghiss
D) Hydrochlorie acid

2) Hydrofluoric acid

3) Sulphuric acid

4) Nitrie acid

Match the following : 1

a) Gy i)
Lussac

Law of
Dcfinite
Proportions
b} Lavaoisier il)  Atomic
Theory

¢} John
Dalton

i)  Law of
Combining
volume

Law of
conservition
of mass

d) Proust iv)

d — iii
d-i
d-i
d-i

b—i
b —ii
b-iv
b — iii

c—ii
¢ —iv
c—ii
¢ —iv

)a-iv
2) a —iii
3) a—iii
4)a-ii

When ice is allowed to meltin a
flask, it becomes water. During this
physical change, its mass

1) increases

2) decreases

3) increases or. decreases

4) remains-the same

When iron powder mixed with 127
sulphur is heated and allowed to

cool, a grey brittle compound ----e--

is obtained.

1) iron oxide

2) iron hydroxide

3) iron sulphate

4) iron sulphide
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132.

133.

134.
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One nanometer is =-eee---

D 10° meter 2) 10° meter
3) 10" meter 4) 10" meter
Coconut oil  solidity the
winter season due to

1) increase in temperature

2) decrease in temperature

3) increase in pressure

4) decrease in pressure

during

Vegetables and fruits turn brown
on cutting and exposure to air is
due to the formation of

1) Keratin 2) Creatinine
3) Melanin 4) Tanin

Which base is associated with the
process of digestion?

1) Sodium hydroxide

2) Magnesium hydroxide

3) Calcium hydroxide

4) Ammonium hydroxide

Choose the incorrect statement

1) Acids have a sour taste

2) Strong acids are corrosive in
nature

3) Acid turns red litmus-to blue

4) Acids are good conductors of
electricity

Protein contains

1) amino acid

2) fatty acid

3) deoxy ribonucleic acid
4) ribonucleic acid

White phosphorus is an example
for

1) Rapid combustion

2) spontaneous combustion

3) Incomplete combustion

4) slow combustion
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131.

132.

133.

134,
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(REN
mivture of propane and butane in
the ratio
1)50: 50 2)25:75
) 40 60 4)15:85

130, The brightly coloured parts of a
Hower are called ---------
1) Corolla 2) Calvx

3) Androecium

137. Match the following :

a)  Cyeadales i)
b)  Ginkgoales ii)
¢} Coniferales iii)
d)  CGnetales iv)
I)a-it b-iv___¢—iii
2)a—iii b—i =iy
3ya-—i b-ili  c¢—il
Ha—iv b=ii c-—li

138. Find/'the odd man out.
[) Ulva
2) Amanita-Phalloides
3) Laminaria
4) Chlorcella

139. Environmment Act was passed in the
yeur.
1) 1986 2) 1976
3) 1956 4) 1966
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Liquilicd petrolenm gas contiins

3) Gynoecium

Fan shaped
leaves

Ovules are
nithed
present on
flower like
shoot

[Leaves are
pinnately
compound,

Needle-like
leaves or
seale leaves

d-"1
d-ii
d-iv
d-i

by
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[0
135. Srsu Qud Gyredlu aumyeslsh 2 s UGI}:FFOGL{EﬁT
it Ay GLsir sevensuullsi aflélGTEemio
1)50:50 2325: 75
3)40: 60 4) 15: 85
136. Sgsrewrer Hmpsoiw weflsdr uGH ————-
sTeaTCIL(RILD.
1) ojeueSlsLt_td 2) ysueSleu_L Lo
3) u&[hES sULLD 4) egE& UL LD
137. Qursgs :
2)  EsGLN i) efldn ITYH]
(s
by fsCarGuesy i) wUGUTsTD
geuge (g
B
Hemsuudlsh
2 sTeT
(6056
&Ll EDEVS: 6T
d) B GL s iv) emdl gng)
Qe
Gumstrm
@lemevs s
Da-ii b-iv c—iii d-i
2)a-iii b-ij c—iv d-ii
Ja-i  b—iii c-ii d-iv
Ha-iv b-ii c—ili d-i

138. QuiEisrsmss CaitOsdéae .
1) 2_susur
2) yoreflmr ushGeomii” s
3) Geutflearmiiwm
4) &GermGlysbeor

139. S0QE s FLLb @ubmiud L oy ca@

1) 1986
3) 1956

2) 1976
4) 1966
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142.

140. Choose the incorrect pairs 140
i) Reduced Bamboo
stems
ii) Erect cucalyptus
stems
iii) upright Betelvine
weak
sterms
iv) prostrate bean
weak
stems
1) ii & iii D)i&kiv
il & iv 43i & iii
------- have blue blood. 141
1) Cockroach
2) Crab
3) Fish
4) Frog
A strong flat sheet of muscle found 142.
below the lungs is called ----=---
1) chest
2) ribs
3) diaphragm
4) abdomen
Bones have an outer layer of strong 143.

143.
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covering-like skin called ---------

1).Plasma membrane
2) Pleura

3) Periosteum

4) Pericardium
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144, Match the following : 144, @U“@é@]& :

Plants Disease Qeig et Camy
a) Rice i)  Mosuic a) Qe i) léau Q.JWM
discase B
b) Potato ii) Blast b) o (s i) urrérpfarﬂmrr '
disease AL Cloauuy G,ESF'“
¢) Groundnut iii) wilt disease 0 Cout sl iy aflsor Ggm
d) Cucumber iv) tikka 4 ) " .
disease d) Gsusrerd iv) lg&ber GEmi
Da-ii b-iii ec—iv d-i o ya-ii  b-iii c—fv d—i
2)a—iii b-ii ce—i  d-iv 2)a—iit b -—ii c—1 d—fV
3)a-ii b-iv c—iii d-i 3a—ii b-iv c—iil d—.l"
4ya—ii b-i c—iv d-iii Ha-ii b-i . c—iv d-in
145. ----—-—-is the father of medicine 145, UEGBNSSST sHos ar ImpssiuEUaT
1) Hippocratess A . TTToT o
2) John ray 1) ML{GUHQGGL_LW
3) Aristotle 2) gmr_h‘srr o
4) Theophrastus : 3) gyflsoLmiiged
4) HGuriyrsiLe
SOCIAL SCIENCE / seus aynflaflus
146. ------—— was the most | powerful ' (4 . Wrdenr werarisafle Bisad ausSiamn
Pratihara king ' UMUES QTSN ————m
1) Vatsaraja 1) ugenmen
2) Nagabhatta I1 -~2) @\TsrLmb Breul L
3) Mihirabhoja 3) BiArGuret
4) Mahendrapala A wGsEAIT umei
147. - has been called the “Cradle of  147. “@Qrdws GComlsd slyls  smeuflsr
Indian Temple architecture” Ggm 160" e YDPSHSILEILG] ~———
1) Pattadakal V) UL LML S&6 |
2) Badami 2) urgmfl
3) Ajhole 3) &zCamnGen
4) Kanchipuram , 4) o EySlYTid

. httocJ/doozvatudyllogsnatin/ e https://doozystudy.blogspot.in/
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149.

150.

" 151.

152.
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Who assumed the title of
“Sankiranajati»?

1) Mahendravarman 11
2) Narasimhavarman 1
J) Mahendravarman I

4) Narasimhavarman 11

Jital, the copper coin was introduced
by

v,

1) litutmish

2) Balban

3) Ala-ud-din Khilji

4) Qutub-ud-din Aibak

is called the “whispe.ring

1) Bidar

2) Golgumbaz
3) Gulbarga
4) Golconda

Who has been called the ‘father of
modern currency’?

1) Humayun
2) Shershah
3) Babar
4) Akbar

In AD 1665, Treaty of purandhar
was signed between ------- and ------

1) Shivaji-and Afzalkhan

2) Ahmed shah Abdali and
Nadirshah

3) Shivaji and Jaisingh

4) Sambhaji and Jaisingh

httpé://doozystudy.blogspot.in/ '
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148.

https://d00ZySTUCY D 00 T i

arudijemen ) o s5T L1 (o
W5, &8 SuPrIs L L g ?

1) @rstoremb wess Siysutiosir

v 2) W&md Brdidsafos

149.

150.

151.

152.

e

3) @ﬁ:ﬁ}m’n WG5Sy autias
4) @lretorL_mb Hrdaatioer

LImed eveirm Qi | HramTLG e
(AL T WY -

1) Gsogiddlsiy

_2) unedusT
3) yyoma st o)
4) BHUSSHT uds

‘YEPEUSGLD TS’
STETMEOPSSIUEIRIG! ——————

S

& 2 &G LOUT

3) ghourer
4) GarelismeirL T

‘medeor EremTLpsmmUTlsr SEMS’
sTSITEDLS &L L euIT Wi ?

. 1) 2_Lomysir

2) Qagragr
3) umurt
4) gy&ur

&19.1665-1b gy sur(R) --—-'._b@@]@ P
oA CwmfanL Gu YTHST GUUBSL
sm & Quimiud_Oud L g

1) flsurref] LHMID g{ﬁ&d}&l{ﬁﬁr . .
2) oi5wg agm yligmad) LppL g

@eﬂmr@l Wohmtd QeplAIb

4) sibumed) Lopmus Qe
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153, Match the following @ 153 Qumrnags : @‘l
a) Bartholomeu - i) Gona i) urrri;:r,g)(}sumblmrr - i) CGomsur (|
Diaz S . i
b) emsuGem.&ror - i) Feoo E’_"” y
b) Vascodagama - ii) Blue Clasream
witer v s
policy ¢) SnsirdlanGan . - i) pEmemode -
m-gsb@mu’.u_rr (Lpemsar
¢) Francisco-de- - iii) Capeof i ) ——
Almeida good hope d) S@GursiGenr— - iv) smefls L
[g—cg.[sbua&rié‘: Gam_smi_
d) Alfonso-De- - iv) Calicut
Albuquerque 4 :
d 1 a<ii b-iv  c—1 d—{"
Da-ii b-iv  c-i d—ii Cayh<iii | b-iv  c—ii d-i
2Q)a-iii b-iv e-ii d-i \Ha-iv b-iii c-i d-ii
Ja-iv: b-iii c-i d-ii 4)a—i b-iii c—iv d-ii
4)a-i b-iii c—-iv d-ii
154. Choose the incorrect pair 134, SounTer Ganswrsowd &erOlifly SSayd
1) Thefirst - AD 1746-1748 1) e - &8
carnatic war R 31, WY 1746-1748
' Gumit
2) Battle of - AD 1757
Plasscy 2) Werr A0 Gumr - &UN1757
3) Battleof - AD 1765 3 udeord Gumi - AN 1765
Buxar - '
d)  yzorsug, - &l
d) The first - AD1767-1769 Symtfleu 1767 - 1769
Anglo- LG, Gt -
Mysore war
155. The Regulating act was passed in the 155. QURGWmDE s L1b GClaersr® sugind L
year e ' -
1) 1775 2)1773 ) 1775 24773
3) 1778 4 1771 3) 1778 Y1
156. Who founded f'he city "Gangai 156, "H:rﬁlm.sés.(;]a,rrsu'm_ Camourgeng”
konda Cholapura Royefwesd wn 2
1) Ra.!a Raja Chola-I L:,ug;mm‘zf TTeTTey Gemyeir
2) Rajendra Chola -1 Feomd TGyl Gamgsir
3) Kulothunga (li'hola -1 @g,sumi:l @GS}JW,é;gjrﬁm Compsir
4) Parantaka Chola - 1 4) (P BeOma UTTE5a Comper

https://doozystudy.blogspot.in/
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Choose the incorrect statements
) Lord Warren Hastings put an
end to the Dual government in
Bengal
i) Lord William Bentinek created
a permancent police force in India
iii) Lord Wellesley introduced the
system of subsidiary Alliance in
India.
iv) Lord Cornwallis passed the
Bengal Tenency Actin 1822,

1)iandii
Jiandiv

2) iii and iv
4) il and iv

The Mural paintings of first pandyan
period are seen in

1) Mamallapuram

2) Ajantha

3) Ellora

4) Sithannavasal Cave temple

“The History of India™ was written
by

1) Henry Elliot
3) Macaulay

2) llbert
4) Firdausi

Which
introduced the
during his reign?

1) Aditya Cholan

2) Karikal Cholan

3) Rajendra Cholan
4) Manuneethi Cholan

ancient Tamil king
‘“Chain jof justice’

The international court of Justice is
situated in

1) Geneva

2) New York

3) San Francisco

4) The Hague

https://doozystudy.blogspot.in/
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157, &ipmstn an irfe SOUMT6ST LN 5MmN

;&uﬂ Gles (i aneyd.
m.uﬁfer,rr o1 8060 7HUGHSIUC L @i smi
-8 (Lpsmmenis e sar Gamsruig riusny Sy
(P86 Glesmsor () surksmi.
/@ aiflsvebhuid Quistrig i 197y G Humsso
Hlensownssr srauegisnmsmn
2_(EuT& el sarm.
“iiti) s Glevaed 1Ny @k umais
SISO S L & Hemenr
I flypstin@sSsrm,
iy) smyssrauradlan Wiry &).9.1822-1b 2,557 ()
OUMIGTET (GHHDHF FLL S605

hlemmGeumplsorm.

2) iii woOmID iv
1) ii whmd iv

(1) HOMOID 1i
< 3) 1 iy iv

158, (LPSSOTLD LIT6HIT g WSHT SISl Shour
spflud Smssriubio @i 1o

1) WMLas0sILTLD

2) Sizpsr
3) stevCrummir

4) flg gamamauras (&massHGHTUND

159. ‘@kdlw sugeomm’ sTeiTm HITENSL

ST Swoui
(D AQamstr Tl 2) @lsbum’
3) Cu&arbs 4) NiQzerd).

160, 6B5 usTTELW SUS LGITETT  oeu(sapL L

AL dl srugda ‘BH smdsl’ mmenw
Qamerr(D eubsmT ?

) opBgu Gomgein

2) aflamed Gomypsir
@rrGeG A Gemgssr
b Gamypsar

161. usrarm @ FHwsimh yeLhgsTs G

1) Qensofsum
2) fuymid

meorirmsarlenGam

https://doozystudy.blogspot.in/
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163.

164.

166.
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The Article of Indian constitution
which provides free and compulsory
education for all children upto the
age of 14 is

1) Article 24
2) Article 39
3) Article 39 ()
4) Article 45

The time duration for singing or
playing our National Anthem is ------
seconds.

1) 585

2) 60

3)52

4) 50

for Child

The contact number

helpline is ------—-
1)4172

2) 1091

3) 139

4) 1098

Sarada Act was enacted in the year

1) 1829
2) 1929
3) 1856
4) 1961

The only active voleano in India is

1) Hawaii island

2) Barren island

3) Andaman & Nicobar island
4) Lakshadweep island

https://doozystudy.blogspot.in/
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162.

163.

164.

165.
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@hE o lwed an&m&,@@ 14 G5
9 U LLL 560601 B (‘g)gpgmgaé@g,@m
(@)suena & g1 Limud shed 3eflése
aflansosd Goisig

) 876 24
2) 8753 39
3) ¢rdg 39 (N

@&qég} 45

ey Gadu Epsmsl UTOL SoRg
%3&&%& SreGHID ————= eflerrg giem
2GS0
1) 55
2) 60
3) 52
4) 50

Amri 2 el @griy (Child helpline)
6T68IT ————

1) 4172

2) 1091

3) 139

4) 1098

smM&T sL 1 @ubpiu L g

1) 1829
2) 1929
3) 1856
@1%1

166. @sHurefgusver gCr g G]&uJaﬁu@fu

s1iflLosmen

1) ameumi) Sey

2) urrpedr Soy - i
SpgursT & N&Csmumt gay
&}v £ Lgégm

https://doozystudy.blogspot.in/
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Match the following :

a)  Pedestal ) formed due
rock to ice
accumulation
along toothill
b))  Piedmont ii) mushroom
glaciers rocks
¢y Clft i)  desert
cnvironment
d) Yardang iv} steep rock
face
adjoining the
coast
DDa-it b-i c¢-iv d-iii
2ya—iv b-1 c—-iii d-ii
Ja-1i b-iii c-iv d-ii
4)a—-iii b-ii c-i d —iv

Arrange the layers from the earth’s
surface to the uppermostlayer in the
atmosphere.

1) Troposphere, stratosphere,
ionosphere, exosphere

2) Exosphere, stratosphere,
troposphere, ionosphere

3) stratosphere, ionosphere,
troposphere, exosphere

4) exosphere, ionosphere,
stratosphere, troposphere

The deepest place in the pacific ocean

1) Mariana’s Trench

2) Puerto Rico Trench

3) Java Trench

4) South sandwich Trench

https://doozystudy.blogspot.in/
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167, Gurmdagies

a) UL Ounsmmestr

usafla,

O

b) W&o sUTFL
«  usflurm)

) ‘emissd
. (&Lps0

d) - LT

LO6HEULLI
STy & st

GG E6T
@sNeugmel

67U sugy

&6TTsar
LT 6D 6iT

LITsn8u6LI8aT

Qem@se

LITSD
<ZMya-ii b-i c—iv  d—iii
T2ya-iv b-i  c—iii d-ii
Na-i b-iii c—iv d-ii
$ra—-iil b-ii c—-1i d-iv

168. usdullser GuourinNeS mEgy) o|erL
Qeusflufsar UmLG S susnT 2 6mer
susifliostori_su 9| (D@ semer
suflsmeiu(b 6815.

A

1)\;@#111@&)@, usLW(H &S,

 guwaflwbiég, Qeusflu@seE

2) Qsustu@ &, L OSE
I wh &G, JuefuBss

3) usnLW(HSE), wefiubéE
Il wB&E, QsusflubéeE

4) GeuefluBiéE, wafu®sHE
UL, JgUBSE

169, udlié Guiymflufser Ll oy Lolomenr
SHSGY!

1) wflwurer o fs@Y

2) GG M&Cer oy flé@Sl

3) somsum gy A& @Gl

4) Qg str srsaarl_afld AGGH

https://doozystudy.blogspot.in/
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170,

171.

172.

173.

174.
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I8
Which of the following statements 170.
are true,
i) Cirrus clouds are vertical clonds
i) Stratus clouds are low clouds
formed within 2000 meters
i) Cumulus elouds are medium
clouds which extends upto 12000
meters above sea level.
iv) Nimbus clouds are high clouds
above 5000 meters above sea
level.
)iandii 2) ii and iv
J)iandiv 4) ii and iil
The largest hydro electric power 171.
project in the world is in -----
1) India 2) China
3) Japan 4) America
-------- refers to the violently-rotating 172
columns of air
1) Tsunami 2) Tornadoes
3) Earthquake 4) Mistral
The =-==-- sea was a shallow sea 173.
between the Angara and Gondwana
lands
1) Tethys 2) Red
3) Black 4) Arabian
-------- district in Tamilnadu has the 174
world’s fargest wind farm.
1) Dharmapuri 2) Dindigul
3) Kanyakumari  4) Erode
Judges belong to  ------ collar 175.
workers.
i) Red 2) Gold
" 4) Blue
3) Pink

https://doozystudy.blogspot.in/
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1 pensuorL & mmsefled afreransmms

G;bl? [';,G];a@f}, g6y,

1) &y Guoesiiensn Qlarii s CusRIGTED

2) s L SEsCmg 2000 SLL(h&©Gw
@mL_uﬁ\GmC}uJ 2 (fHEUM(ED gmp Gusmiasr
oL CLosmigs sTsmriuID.

3) sLéb W LSO BES) siom 12000 B
2 (LTI GUEDT gree UG FHH5T
Guakiss SrsT CluehimeT sT6aT (LD

4) HL6V - C&H0mHES 5000 B
0 (LTSS GLosY o [HeumE@D 2w
Cosiiss smiumL GesheeT aariu@ih

2) ii hgo iv
4) ii whmid il

1) i wdmid ii
3) i.ommid v

o st BetOUNW EifsTaéss Hesowib

ok gieTst Brh ————
1) @idhwur 2) &t
g g 4) sGuAGsT

Eefly HLpDHELL 6T &g &THNS

QznEHullsmer ————— sTeaT S Cmmib.
) sLOCasmer 2) tays0mS SO
3) BeorBR&sihn 4) fsro_Qysb

omsmr  wuhgth  Carsm@Esursorm  eTaD
@ram® Guflu AelugHsErse @eoLGw
SiDUEHGES QD GHONEHS SLO LGS
QLS
3) SRS

2) Qs s

4) giri&asL
—==== relt EHd 2 adsr BsuGud
STHmTene KIMIAIRTLE 2 6ireTg).

) ghuoyfl 2) S (Hs s

3) seresflwimgio 4) wlyr®

gHudlest  ————— &SSOl
ussflurerigetlsy gL digeur.

1) dlsuly 2) s Him

3) Qeusfit fleuiy Blm 4) Baflm
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180.
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Thunder storms are also ealled 170,

1Y Cyclonic rainfull
2) Tsunami

3) Weather factories
4) Killer waves

The study of the science of --eee is 177.

called Fulminology
1) Earthquake 2) Cyclone

3) Lightning 4) Thunder

Choose the odd man out. 178.
1) Fohn 2) Purga

3) Sirocco 4) Loo

The process by which plants lose 179.

water through photosynthesis is
called ------

1) Evaporation

2) Evapotranspiration

3) Hydration

4) Condensation

Find the odd man out. 180.
1) Petroleum 2) Natural gas
3) Sulphur 4) Coal

https://doozystudy.blogspot.in/
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(g sbr &n g L) @susurmud
D160 s Rme,

1) LuI6h Losmip

2) asormif

J) surrsrfismen Qg mflmansmsy

4) 2. Glanebgyid Bsma

----- umn) Uig & (&0 SiflaShusy
‘SoligbLlsTTTeual)” sTsariuBHlmg).

1) hipHé&si 2) ywev

3) Uistremred 4) @g

QurEbsTEMmsS CoibbsHi&sa|b.
1) LT 2) yiamw
3) Ar&HGaT 4) v

graurhisst  gallEGaismaullar  epeid
srofid S @uéEn Hepa) ———-

1) Sy, eNuTH60

2) Eymell Curd G

3) EGrmoid

4y g sfiialls g6

QurEEeTemes el &&an.
1) Qo GyreSlwid 2) Quimeng eumy
3) &Ess0 4) flsod sl
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NMMS SATKEY. 2015

(11(2)2(3)2 (4)1(3)3 (6)4(7)1(8)1(9) 1(10) 4
(11) 3 (12)1(13)2 (14)2 (15)1(16) 2 (17) 4 (18) 2 (19) - (20) 3
(21)3(22)1 (23) 2 (24)2 (25) 3 (26)'3 (27). 3 (28)3 (20) 2 (30) 3

(31)4(32)3(33)2 34 235 3 (303(37)4 (381 (39) 2 (40)3

(41)2(42)3 (43)1(44) 2, (45) 4 (46) 1 (47)2 (48) 2(49) 1

(50) 3 (51) 2 (52) 3(53) 3 G 15501 (56)3 (57) 3 (58) 3 (59) 1 (60)2
(61)2 (62)3 (63)2 (64)3 (65)2 (66)2 (67)4 (68)4(69)1(70)4
(71) 4 (72)4 (7373 (7P 2(75) 2 (76) 2 (77) 1 (78) 1(79) 1 (Bo)4

(81) 2 (82)2 (83)1(84)3 (83)2 (86)1 (87) 3 (88)2 (89) 2(90)3.
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